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Questions

Tan1/x=

sin1[-1/2] =

The number of triplets (x, y, z) satisfying sin”Tx +cos'1y +sin"1z=2rmis

If tan”13 + tan"1x = tan'18, then x=

Question Image

Question Image

Question Image

Question Image

sin[cot Y{cos(tan"Tx)}]=

tan(cot'1x) is equal to

Question Image

Question Image

Question Image

The solution set of the equation tan"1x - cot-1x = cos'1(2 - X) is

Answers Choice

sin x

. sec<sup>-1</sup>X
. cot<sup>-1</sup>X
. None of these
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nfinite

5
1/5
5114
14/5

Dow» DomP

A. <i style="text-align: center;">1 /
3</i>
B. <i style="text-align: center;">T /
4</i>
C. <i style="text-align: center;">m /
6</i>
D.0

A. <i style="text-align: center;">mr</i>
B. <i style="text-align: center;">1r/
2</i>

C. <i style="text-align: center;">m /
3</i>

D. <i style="text-align: center;">1r /
4<fi>

A. cot(tan<sup>-1</sup>x)
B. tan x

C. secon x

D. None of these

A. <i style="text-align: center;">1 /
4<[i>
B. <i style="text-align: center;">T /
6</i>
C. <i style="text-align: center;">m /
3</i>
D.0

A. <span style="color: rgb(34, 34,
34); font-family: &quot; Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>m / 3</i>
</span>

B. <i style="text-align: center;">1r /
4</i>

C. <i style="text-align: center;">m /
2</i>

D. <i style="text-align: center;">m</i>

L1617
.6/17
L7116
. None of these
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Question Image

Question Image

Question Image

Question Image

tan"1x > cot-Tx holds for

Question Image

Question Image

Question Image

Question Image

Question Image

Question Image

Question Image

If cos'1p + cos'1q + cos™Ir =TTthen p2+ q2+ r2+ 2pqr is equal to

Question Image

Question Image

D. None ot these

2

7
None of these

oW

10
0
None of these

1
0

W> Uow

o

-3

x &lt; 1
x=1
All values of x

1/3
1

DCOm» DO

None of these

Cos 4y = cos 2x
Cos 3y = sin 4x
None of these

oow

0

-1
None of these

1
-1

DoOwm» TOowp

None of these

x=1/5
x=0
None of these

oOw

oow» OUOwWp

None of these

>

. <span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>m</i>
</span>/ 4

B. <span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 248);"><i>m</i>
</span>/ 6

C. <span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 248);"><i>m</i>
</span>/ 3
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Question Image

A. SDpdll syle— uticialiuy.

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 248);"><i>mr</i>
</span>/ 2

B. <span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 248);"><i>m</i>
</span>/ 3

D. <span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 248);"><i>1r</i>
</span>



